Circle

C=2Mr=TD

S=RE=1%DE = Deos™(dIR)

=2 JR7- &#=2Rsin{@|2)=2dtan{ B 12)

d=%J4R - F=Rcos(@/2)=Wl etn( &2

h=R-4

B=5/R=25/D=2cos (dIR) =2tan"{2 | 2d} = 2 sin" {1/ D}

Afcircle) = TR =%wTD®

& (sector)= ¥WRs = R & .

A (segment) = A (sector) - A (triangle) = ¥R (& - sinid)
=R%cos{{R-h) IR} - (R -h)JZRh -

where:

C = gireumferanca S = langth of arc subtendad by &

R = radius | = chord subtended by arc 5

D= diametar h=rise

A= area & = central angle in radlans TM=23.14155...



Cone and Pyramid

Cone:
V=o' 3
S=ors+orf =ard °+ e +ort

Pyramid;
W=abcl3
S=bh+ci+bec

where:

W = volume,

S = surface area,
n=314159. ..

Cone




Cube and Cuboid
W =abc

S=2ac +2bc+ Zab
f=Ja+b"
d=Sa+b+c

where:

W= yolume, i

S = surface area,

f = face diagonal,
d = space diagonal.



Cylinder or Prism

Cylinder:
VeEorh= Yind*h
S=2nr+2nrh = % nd®+ ndh

Prism:
W =abh
3=2ab+2ah+ 2bh Cyfinider

where:

Y = volume,

S =surface area,
o= 314158...

e o —y
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Ellipse
=mnal,

where;

A= area,

a= semi-major axis,
b = semi-minor axis.
n=3.14188. ..




Ellipsoid

Y=4/3nabc

where;

V= volume,

a, b, ¢ = length of semi-axes,
o=3.14158. ..



Parabola

m
Area=21di3 d e
where:

11—
height of & = d /2 (P - m?),

width of m =] f{d-edid.
length of arc = | [1+ 213(2d FI® - 205(2d § I+ ].



Parallelogram

A=ab

where:
A= area

In a parallelogram all diagonals bisect each other,
neighboring interior angles are supplementary and
opposite interior angles are complementary.

Rhombas



Rectangle

Area=ab k

e=/aT b7
a=+c*-pb*

b=vEaE |

where:
a, b=length of side.



Regular Polygon
A="n 2 ctn(180 / n)
R=1%zcze(1801 n)

r="%2z ctn{180 I'n)
a=360/n=2nln
B=120(n-2)in)= af{n-2)In)
z=2rtan(of2)=2 R sin(ol2)

wihers:

A= area of polygon,
a, Bare in radians.

o =314159. ..




Sphere

A (sphere)=4nrf=n[PF

A (zone)=2nrk=nDk

Alune) = 2rg

Y (sphere) =430 = 1/6n0*

Y (spherical sector) = 2I3nr’k = 16T D%
W (spherical segment of

one base) = 1/6mh{3t* + h7)
¥ (spherical segment of
two bases) = 1Bul3t2 + 352+ 12) =21 2 _
SRS
where:
A= area,
W = volume,

& = angle of lune in radians,
n=314168. ..



Torus

We=2nR r?
S=47'Rr

where:
W =volume,

S =surface area,
n=314168. ..




Trapezoid

A=%hla+h) /
where;

A= area,
a, b= length of parallel sides,
h = altitude.



Triangle
Area=bhi2

where:
b = length of base,
h = height of triangle.
——— g —



Trigonometry
-

4l

sin@=alc cos@=hic
tan@=ah cot@=bia

sec @ =clb

csc @=cla

exsec @=clb -1

vers @=1.hic

covers @=1-ale

hav &= %(1 - bic)
sifx+cog"x=1

tan x = sin xjcos x
cotx=1Mtan x = cos xisin x
sectx=1+tan’*x
csct*x=1+cot*x

cot x - cot y = sinfy -x) lsin x siny)
BiN"x-siny=cos"y-cos™x

cos' X -sinfy=cos’y-sinfx
sin(-x)=-sinx cos(x)= cosx
tan{-x} = -tan x

c'=a'+b?
sinfk+y)=sinxcosy+cosxsiny
cos(x+yi=cosxcosy-sinxsiny
tan(x + y] = (tan x + tan y) 7 (1 - tan x tan y)

cot{x+v)=(cotx coty-1)![cotx+ coty]
sinfx-vi=sinxcosy-cosxsiny

COB(X -y]=cosS X cOSy+SinXxsiny
tan(x -yl={tan x -tan ¥}/ {1 + tan x tan y)
cotfx -y)=(cotxcoty+ 1)/ (coty-cotx)
sin x + siny = 2sin Y(x + v) cos WX -v)
§iN X - siny = 2cos (X + v sin %X - y)
cos X+ cosy=2cos Yfx+vy) cos Wx -y}
cos X - cos y=2sin %{x+ vl sin %X -v)
tan x +tan v = sinfx + y) licos x cos y)
cot x + coty = sin{x + y} i{sin x sin y)
tan x -tany = sin(x - y) llcos x cos y)






